8 7 6

REVISIONS

ENG F.20.041D-(FORM REV A)

f 4 3

2

1

NOTES: (UNLESS OTHERWISE SPECIFIED)
2. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 20.8" MAXIMUM SECTION HEIGHT. 19537 | A . J
3. MINIMUM 1" OVERLAP ON BOTH JAMBS REQUIRED TO MEET NEGATIVE DESIGN PRESSURES. ADD NOTE 18: 1BC/IRC 11/30/20] NQ
4. TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 20294, & TAS 203-94. 1° OVERLAP 1” OVERLAP
5. DOOR SKIN MUST BE 25,000 PSI MIN. YIELD STRENGTH. '
6. JAMB LOAD CALCULATIONS: —T T ~— T — T ~— T — 5 ~— 3
((1 /2 DO(OR WDTH)(1 FT OF HEIGHT)S[EESIGN/ PRESSl)JRE) C J
8.067)(1_FOOT)(46.00 AND —52.00)(371.1/-419.5) LB. . .
i SR 0 BoGR ST RoAFKAEED ATEACHER 16 DR W DOOR JAB
F x=g17/12 LB(S)OR WDTH)(1 FT OF HEIGHT)(DESIGN PRESSURE) AND (4) 8-15X9/16™ SCREWS ADHESIVE AND (4) 8-15K9/16
8. DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO GO MIN, WITH BAKED-ON PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. -
9. FOR ANCHORING INTO WOOD,USE ONE 5/16" LAG SCREW PER JAMB BRACKET WITH 1-1/2" EMBEDMENT INTO SOUTHERN PINE (6=0.55) OR BETTER. SECTION A-A
10. APPROVED INSULATED AND NON-INSULATED: 170 (25GA), 180 (25GA), 0.0209" MIN STEEL. SCALE 1 : 12
11 WELD SLOT ON ANGLE AND 3/32" X 1" LONG ON 12 CENTERS. "IF WELDING MOUNTING OPTION IS CHOSEN."
12 UFT UP MECHANISN-MANUAL, CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL.
13. STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADROOM TRACK IS AVAILABLE. FOR LOW HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 ToP
GRACKET W A N OF (3) 1/4 = 14 X 7/8° SELF DRILLING CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAWING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP ‘
14. ATTACH STRUTS WITH ('22) 1 /4—14x748" SELF DRILLING CRIMPTITE SCREWS AT ALL STILE LOCATIONS, TYP. LOCATED WTHIN 6", +/- 3" FROM TOP OF SECTION.
15. KEY LOCK, SLIDE LOCK, OR ‘DRAWBAR OPERATOR REQUIRED. . STEEL SECTON SKIN
16. IMPACT RESISTANT GLAZING OPTION— IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLED INTERMEDIATE SECTION OR TOP SECTION. GLAZING SHALL BE 1/4° POLYCARBONATE. 13-3/4” X 7 TRAK ANCLE
20-1/8" MAXMUM SIZE, FASTENED WITH # 8 X 1 SMS: 3X MN ALONG THE HORIZONTAL AND 2X MIN ALONG THE VERTICAL. SEE DETAL F~F ON SHEET 2 FOR ASSEMBLY DETALS. ETAINER
17. THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN WEATHERSEAL
ACCORDANCE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING. (ASTRAGAL) i
18. DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH REGULATIONS PER BUILDING CODES: 2018 IRC AND 2018 IBC. SECTION D-D OETAL B
SCALE 1 : 4 SCALE 1 : 4
END BEARING BRACKET, STANDARD LIFT P
SHOWN, LOW HEADROOM CLEARANCE
NON—INSULATION —5 2.00 AVAILABLE ( SEE TRACK DETAILS ON SHEET 3) ABLE DRUM SHAFT
. 100 /_ 7 —TORSION SPRING COUNTERBALANCE
18.00 HORIZONTAL TRACK | I ? e !
) [ 2.875] | E— |
= 8.25 |
° 17.025 14125 | <«
30 GAUGE STEEL COVER SHEET [ | 1 TOP FIXTURE
Cron - AN NN - 200 A 1k o -
5 —( g. " g 5 ; . _‘ 15" MAX 0.
20.80 i 15" MAX (TOP TRACK CLIPS ONLY) A el n : i K A (TOP O?LY)
_ \—1 PCF EXPLANDED ] d :
T ¥ POLYSTYRENE (EPS) Tl f . : = A == ! .
L :| 12 MAX 4" STRUT, 1 PE%,"S)%%%&I 12
;4 [ 8 8 3 18 @ g 0 8l | et
' 16GA END STLE g : i o . 3. 2]
b " MAX 20GA CENTER STILE—| | 4 3 y y 3 & 12”
OPTIONAL GLAZNG ——| |
MAX 1 WINDOW PER = = —
STAMPED PANEL 1 AN k” / | | 11 | | k!] 1
(ONE ROW ONLY) 12"
o o ol |
RN SLIDE LOCK: EX £, 4,
..“.‘E-Qﬁ TE \\ JAMB_BRACKET , ¢ 12"
;"%f- * }?\ X SRR | i MAX END HINGE: ; = L 2ol e B
P o '..*" r - _/ J \:/ < ie
’ .
7 . :.f.';’ 13 CAUGE AX ROLLER s 8 g 9 o] o 8 B sl 1L |
4 JOHNE.SCATES 7 VERTICAL TRACK ¥ STRUT BOTTOM AND 3RD = = = = = =
'--.-. ......................... .....’, 65 SECTION ONLY 3" X 18GA_/ X 10"
6, 56308 R ] BOTTOM FIXTURE % M Lh I:_L
W <4 0 At i E5) -
‘\fé‘SCENS‘a '(3\‘\;' &9 500 JAMB BRACKET | 16'2" MAX WIDTH |
\\‘s/\O\NA\_\ | D N ORI UNLESS OTHERWTF(S)EEEREI%JSED — é%Pﬁ%\(/ALS A1 - The Genuine. The Original. 9501 S TX-19] BUS
N ES: X 4-11-19 | g2 saTTwRR A Y
@_g MR A e X =41 CHECRED 1, KORNGE 2-18.00 007 LEWSWLLE, TEXAS
ALL DIMS ARE IN XX =103 APPROVED - —__ IDESCRIPTIO
JOHN E. SCATES, PE INCHES = 200 MATERTAL - 170171 /175/180/181/185/ |+
. : 2560 KING ARTHUR BLID f124-5¢ DO NOT SCALE s R FINSH N 1400/1500 162" MAX WIDTH
Digitally signed by John E. Scates, P.E. LEWSVILLE, TX 7506 951 =4 004 /o ,
o FL PE 51737 TX PE 56308,/F2203 DIMS._CIRCLED ) <l _+.004/ 003 WINDLOAD SPECIFICATION SIZE|DWG NO. REV
Date: 2020.11.30 17:43:19 -06'00 S AR st : e e MY pesr | 95t 030 =08/ 0n OPTION CODE 1123 o | D-4rises A
VEFGATON 6 Lo e STRUETEN DALS! IN-PROCESS INSPECTION STANDARDS. (AL GEOMETRY GOVERNED BY' 50 CAD DATABAS: SCALE 1:12 | UOM = EA | SHEET 1 OF 4
T 5 T T


John
TX PE Box


4 3 2 1

8

4" EDGE DISTANCE <—>’73" EDGE DISTANCE

7

NOTES: (UNLESS OTHERWISE SPECIFIED)

<—>’72.75" EDGE DISTANCE

3/8" X 3" LAG SCREW, WITH 1-1/8"
ASHER, MAX QOF 18” 0.C., MIN

2-3/4""EDGE DISTANCE \ / 6=0.55

ﬁS/B D\A S\MPSON T\TEN HD FASTENER, MAX. OF
3/4" EMBED ANT% MIN 2500 PSI

CONCRETE M, 3" EDGE DIST

3/8” DIA. SIMPSON T\TEN HD /\
3 9’ 3/4”

FASTENER, MAX. OFW "0.C
MIN EMBED" INTO"MIN. 1500 F’S\ GROUT

FILLED CMU, MIN 4" EDGE DISTANCE % \ /(V .
/ 2 X 6 #3 SP (6=0.55) OR BETTER 1-1/8" 0.0. WASHER

1-1/8" 0.D. WASHER

2 X6 43 5P (6=055)
OR BETTER

WOOD MOUNTED TO GROUT FILLED WOODC’(\]A%QET% DTST/iEOOPS‘
MASONRY BLOCK DETAIL I

WOOD MOUNTED TO #3 SOUTHERN PINE SUBSTRATE

EDGE DISTANCE
3 ANCHOR OPTIONS:

— 4" EDGE DISTANCE
L S RN /4
2 ANGHOR OPTIONS Vil ERipel T N 23000 s! BRI
A g3 8P (6=055) 113/8 DIA. SWPSON TITEN, 1D FASTENER, 2-3/4° 3"\ EDGE, DISTANCE
v ‘ v EueEt Tt i, 1500pS oRADT LD N>CH68R g\Aw/é\LTA\/mW\gME%T 3, EIBANSION

m

OO N

%y\% 3/8 D‘,A /H‘LM,GW‘?ME%TJ\NEQPAES(‘;%N a/a DIA. POWER LOK/BOLT, EXPANSION
DISTA C

N> 1-5/8" MIN. EMBED, MIN 4" EDGE
S ANCE

OR BETTER
4—T2.75 11" EDGE DISTANCE CMU, MIN. 4" EDGE DISTANCE ISTANC

Y KIS oy
b AT o ST v NN
\ 13 GA CONT.
HOLE LOCATIONS) 145200 9/18° . \ WAL ANCLE N & ANCHOR / L
1/4-20 HEX NUT OPTIONAL: WALL ANGLE MAY BE ANCHOR 17 0.D. WASHER sgg DOOR ELEVATION ON SHEET 1
- Mithdee AN O 1414 3 1 SEit DRILING " 00, WASHER FOR HOLE  LOCATIONS)
16 GA JAMB BRACKET 1/4-20 HEX NUT el W\)(H/ 0.0. WASHER IN'LIEU o SREEHgf]EOFfoEcLETV\éﬂ%N ON SHEET 1
OF WELDING. § SEE DOOR ELEVATION
ON SHEET 1 FOR HOLE LOCATIONS)
MOUNTING TO WOOD JAMB MOUNTING TO STEEL JAMB MOUNTING TO 2500PSI CONCRETE
DETALL DETAIL MOUNTING T%L%RC(%UEEFT\/&‘LLED MASONRY DETAIL >
14GA BOTTOM FIXTURE SECTION'E = E
SCALE 1 : 4
Q\TTLAZHED JOWEE;:T;ONB" SELF 12GA EXTENSION BRACKET 13GA MIN. WIDE BODY END HINGES.
(10) B X T BRECRG e "¢ e ATTACEED W& (3 114 31/ 41 END HINGE 1S 14GA.
SHEETMETAL SCREW " DAYUGHT OPENNG=9 3/4°X15 7/8" S BrtuGEide' sthels 11 GA TOP FIXTURE COMMERCIAL 1564 ROLLER SLDE. ATTAGHED T0. Top
AFRAVE BRACKET 0 0 FIXTURE WITH 1/4-18 BOLT AND NUT IN CENTER HINGE ATTACHED. WHH (6) 174214 x 7/8]
~C = { l[cso]ogso SLOT AND 174720 X 9/16" TRACK BOLT AND 053 OF WHCH ARE N -BOARD
1/4" POLYCARBONATE / g I \ i . . t 1/4-20 HE NUT THROUGH ALIGNING HOLES
GLASS BITE 0.5” g g = =
INTERIOR FRAME EEEER‘E)?{gFEmeUM g ° ~ 7/16” DIA. STEM TOP AND BOTTOM ROLLERS o g
6063-T6 ALUMINUM 5
™ —o00r secron 14GA INTERMEDIATE HINGE —— — C e AN S S ‘
ATTACHED WITH () 1/4-14 X 1/ s :
WINDOW DETAIL SELF DRICLING CRMPTTE SCREW
o DETAIL K DETAIL J ) DETAIL K
SECTION F - F SCALE 1: 4 SCALE 1: 4 DETAL H SCALE 1: 4
SCALE 1 - 4 SCALE 1: 4
OPTIONAL WALL ANGLE TRACK
I TRACK 13GA MIN 13GA MIN
e s i i
o WALL ANGLE
SSISINY Q © ° Wﬁ 11GA MIN TRACK
~XE OF TANN, - s an g o U 0 T s
ToN RO ] 5 WTH 1/4-20 NUT
z .0 : © © Cm@f B ek ° o | Uik BT 1/4=20 TRACK OR
AR R " ] et s IO | ?E%GEN SOLT W CéE,R‘ZAOGEN Al
3 .- N 5y 7
/
5 JOHNE. SCATES / 16CA STIFFENED = RSW >W
'..... ......................... .....’/ JAMB BRACKET %}BM,Q%%\/SUSSEM‘ o éz(; 1/4 20x9 /16 TRACK O 7
'0'95;' 56308 ‘g., LT AND 1/4-20 HEX NUT
z L
‘? {.{CENSQ_? O\Q\ DECAL TRACK Al JAME CAST PG DAl TYPICAL TRACK CLIP RIVETING DETAIL TYPICAL TRACK CLIP BOLTING DETAIL TYPICAL TRACK CLIP WELDING DETAIL
‘\\ /ONA\_ \;\‘." UNLESS OTHERWISE SPECIFIED APPROVALS — DATE | the Genuine. The Origina. 2501 S TY=191 BUS
\ \“ THRD ANGLE PROJECTION . 11— ’
. g Ve s WSS e oHggmegy no;
9560 KNG RTHOR BLUD §124-54 NCAES allae = 35" AFA\Q\TSEHR = - e W/WS/’W %O/WSW/WSB/
LEWISWILLE, TX 75096 DO NOT SCALE HOLES: -~ ) _ 1400/1500 162" MAX WIDT
FL PE 51737 TX PE 56308 /F2203 DIMS CIRCLED WITH sywBoL ' C O < =+.004/-.003 WINDLOAD SPECIFICATION SIZE|DWG  NO. REV
PROFESSIONAL ENGINFER'S SFAL PROVIDED ONLY FQR ng%iﬁgngAﬁugg %gé%HE;EEE§EtE QQSL gggg :i()6447 0 IO O T Y e i
VERIFICATION” OF WINDLOAD CONSTRUCTION DETALLS. IN-PROCESS INSPECTION STANDARDS, ~[ALL GEOMETRY GOVERNED o CAD DATABASE: SCALE | 12 | oM = EA | SHEET 2 OF ¢
‘ 5 5 t ' 4 ‘ 3 2 1

ENG F.20.041D-(FORM REV A)

>


John
TX PE Box


8

NOTES: (UNLESS OTHERWISE SPECIFIED)
CENTER STILE AND INTERMEDIATE HINGE LOCATIONS )
s =© > >
‘-’ : : : : : = K
° 8 g 8 8 o o 7 \ %
7Y i Y :
16’
T * * - = DOOR HEIGHT N
e g g g ©]: y
8 y LOW HEADROOM
: ; ; ; ' TRACK DETAIL
: ¥ : j SECTION DOORS WITH
w15 8) 47 16GA 80 K U-BARS
= L CATEDBGAXSSgHE%‘VNU BLRS\
@ 8} 8} I8} 8 I8} - @ S0 80 k8 ks [
.2 .2 2 = . 4) 3" 18GA 80 KS| U-BARS
) VERTICAL LIFT CATED A5 SO
4 ok : TRACK_DETAIL
, {(:j SECTION DOORS WITH |
12 “ 6) 4 16GA 80 KSI U-BARS e
3) 37 18GA 80 KSI U-BARS
=) CATED AS SHOWN
: ' : [ x
M M M M | :
o 8 9 B 8 © {Ej S0 80 ka0 ks :
.8 2 3) 3" 18GA 8Q KSI U-BARS
. H e LOCATED AS SHOWN
. SECTION DOORS WITH \
ch%éng SSSSEH%%NH L g
10" NZSN DS
DOOR HEIGHT
N/
o 4” STRUT MAY OVERLAPS HINGES, ATTACHED
W TH ((2 é4 4x7 /8" S LF DRILLING
C M ‘\ CRE S AT EACH STILE
3))
I ©
° o I
u > = |
DETAIL N
SCALE 1: 4
S OF 1AM
S E QR TEL N
SR, i ST AR
”~ *e, ‘ . Tl EACH STILE LOCATION
R’y K " DOOR HEIGHT i
L AN . %9 - STANDARD LIFT 1
7/ JOHNE.SCATES /4 TRACK DETAIL
fjsssmassssensissnsasssnmrs g [ HIGH LIFT
| l‘,%;...' 56308 ‘3:: | TRACK DETAIL SCDAELTEA\WL :04 STRUT LOCATIONS
‘g?n&;@{_/_cENs@ %4 7 SCALE 1: 16
‘\\S/o'\i\i}siL‘ B s UNLESS OTHERWISE SPECEIED APPROVALS— DATE Trve cemine.theorigin 9501 S Ty171 BUS
[eX DOOR HEIGHT D ME ROECIN TOLERANCES: DRATN CLUARK _— 4-11-10| @rmmmmmms sy ’
o NTERPRET DS & 1015 s T O ooiig P 0¥ [EWSVILLE, TEXAS
$ — AL ONS ARE N Moo= 103 APPROVED S DESCR\PT\Oy
2560 KNG ARTHUR LD Fo4-54 NCAES e = 5 AFA\Q\TSEHR‘AL - v WW/WS/’WEEO/WSW/WSS/
LEWISVILLE, TX 75006 DO NOT SCALE HOLES: -~ / _ 1400/1500 162" MAX WIDTH
FL PE 51737 TX PF 56308 /F2203 DIMS. CRCLED WITH symgaL ' C <20l =t 004 -.003 WINDLOAD SPECIFICATION SIZE |DWG  NO. REV
PROFESSIONAL ENGINEER'S SEAL PRO/\/DED ONLY FOR FEATURRS 4 MUST NEET APPLICADLE " g R I ’ AT !
VERIFICATION” OF WNDLOAD” CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS,  [ALL CECMETRY D 87 CAD DATABASL: SCALE 1:12 | UOM = EA | SHEET 3 OF ¢

ENG F.20.041D-(FORM REV A)

4 ‘ 3

1

>


John
TX PE Box


8 7

NOTES: (UNLESS OTHERWISE SPECIFIED)
1. FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

6.51 I = LENGTH = DOOR WIDTH -1"
— : D g 1,92 ~——LENGTH = DOOR WIDTH 1
<727O> g m m n o i} i} N N i} i}
f R.24 275+ 2.‘29 :E 3
=0 g H g /\5_60 é —] - = = *L J : — : B
= S| 8 ———t—1.12 Voo
o U ° J 4.004‘
ROLLER CARRIER 4” STRUT (UBAR 3" STRUT OPEN WL (UBAR)
BASE TOP FIXTURE
T0P FIXTURE ASSY. T1GA 13GA 80 KSI MIN. YIELD STRENGTH, 4" X 16GA 80 KSI MIN. YIELD STRENGTH, 3" X 18GA
TOP FIXTURE DETAILS STRUT DETAILS
r=~—2.24—=
0 ( — — SECURED WITH (4) SCREWS 1/4-20 X 7/8"
® 77* U 5.561
1.499 . e \ R.238 f { 2.34 THROW
_— o g —
# ﬁ 1.625 ,L | 16141 | H R
A nfss 2.50-— - 4.£9
*M 07 L, T . 0 0 0 O
. ——75 75 — 1 1.00 x .150" THICK—
% BRACKET, TOP, RES, LHR 309
En 12 GA
#1 END HINGE CENTER HINGES END _HINGE
14GA 13GA SLIDE LOCK ASSY.
BOTTOM FIXTURE DETAILS
HINGE DETAILS LOCK DETAILS
9.36 REF. 9.00 REF. —
¢.44 REF. —#.55 REF. | (i} 0 RS
, m{ 1.81 REF. [ } P UD
[ | 2.8 REF.
P —— Il -
i
7/16” STEEL PUSHNUTS U
ROLLER ASSY, 2” WL 1144 (STEEL ROLLER) ROLLER ASSY, 3" WL 1144 1,
18.07
SN ROLLER STEM ASSY DETAILS (WITH PUSH NUTS)
.XKTE,QE,TE*;\‘ B 74
FoN A SN} q :
;’ .' 1.94
’:': "X 'I —375 X 631 o
% xY _ 9.36 REF. —
R R R R ER R TR TR R $.44 REF. ‘ JAMB BRACKET L
' E— T Y [ — o
. JONESCATES | of | 1o 166A e 02
A . 4 91— bw—l—1.52
6. 56308 .zt w1 BRACKET DETAILS .
o < o i&F : FLAG ANGLE
W& CENSEY. oS 13GA
‘\fslfii\i}\'CE‘i-" UNLESS OTHERWISE SPECIFED APPROVALS— DATE Trve cemine toeorigin: 9501 S Ty_171 BUS
WG ROLLER ASSY, 2" WL 1144 (NYLON ROLLER) D G O INTERPRET DIVS_ 4 TOLS TOLERACES: oAtk I G Ry ey, Tes
@—g PER ASME Y14.5M - t. ,
JOHN . SCATES, PE INCHES A = 2.0 MATERIAL - 170/171/175/180/181 185/
2560 KING ARTHUR BLVD #124-54 ANGULAR = £.5 FINISH - oy
LEWISVILLE, TX 75056 DO NOT SCALE HOLES: - ) 1400/1500 167 MAX WIDTH
FL PE 51737 TX PF 56308 /F2203 DIMS. CIRCLED WITH sywBoL ' D <0091 =+.004/-.003 WINDLOAD SPECIFICATION SIZE |DWG  NO. REV
PROFESSIONAL ENGINEER'S SEAL PRO/\/DED ONLY FOR FE&RTEECERSCTSEAAEUEQ a%@%HAYPF[’]LE\E@LE ®'25l’g'§’88 :885%:%8% IO T V Ao !
VERIFICATION” OF WINDLOAD™ CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS, | ALL CEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 \ UOM = EA \SHEU 4 OF 4

7 ‘ 5 5 t . 4 3 2 1
ENG F.20.041D-(FORM REV A)


John
TX PE Box


	411689 SERIES 170_180, 16'2 MAX WIDE, 46,-52 PSF 1
	411689 SERIES 170_180, 16'2 MAX WIDE, 46,-52 PSF 2
	411689 SERIES 170_180, 16'2 MAX WIDE, 46,-52 PSF 3
	411689 SERIES 170_180, 16'2 MAX WIDE, 46,-52 PSF 4

		2020-11-30T17:42:27-0600
	John E. Scates, P.E.


		2020-11-30T17:42:38-0600
	John E. Scates, P.E.


		2020-11-30T17:42:50-0600
	John E. Scates, P.E.


		2020-11-30T17:43:04-0600
	John E. Scates, P.E.


		2020-11-30T17:43:19-0600
	John E. Scates, P.E.




